
Answers (Truth Tables) to Logic Diagram Review Problems 
 
 
 
  P   #1   #3 
Figure B.                   Out 
  Q 
 
 
         #2 
 
 
 
    #1      #2       #3 
 P Q P•Q   Q+Q   (#1)•(#2) 
 0 0   0      1        0 
 0 1   0      1        0 
 1 0   0      1        0 
 1 1   1      1        1       Answer:  P•Q 
 
 
 
 
 
  P  #1  #2 
Figure C.           #4 
  Q                       Out 
       #3 
 
 
 
    #1      #2      #3       #4 
  ____ ______    _________ 
 P Q P•Q #1+Q  #2+Q  (#2)•(#3) 
 0 0   1     0      1        1 
 0 1   1     0      0        1 
 1 0   1     0      1        1 
 1 1   0     0      0        1     Answer:   1 
           
 
 
 
  P  #1     #3 
Figure D.                       Out 
  Q            #2 
  
 
 
 
    #1      #2      #3 
 P Q P + Q    P•Q  #1•#2 
 0 0    0      0      0 
 0 1    1      1      1       Answer:   P•Q 
 1 0    1      0      0 
 1 1    1      0      0 



Answers (Boolean Equations) to Logic Diagram Review Problems 
 
 
 
  P   #1   #3 
Figure B.                   Out 
  Q 
 
 
         #2 
 
 
 #1    P•Q 
 
 #2    Q + Q  =  1 
 
 #3    (P•Q) • (1)  =  P•Q         Answer:  P•Q 
 
 
 
  P  #1  #2 
Figure C.           #4 
  Q                       Out 
       #3 
 
 
         ___ 
 #1    P•Q 
 
           ________ 
           ____ 
 #2    P•Q + Q  =  (P•Q)•Q  =  P•Q•Q  =  P•0  =  0 
 
 #3    0 + Q  =  Q 
         ___ 
 #4    0•Q  =  1 + Q  =  1         Answer:  1 
 
 
 
 
  P  #1     #3 
Figure D.                       Out 
  Q            #2 
  
 
 
 
 #1    P + Q 
 
 #2    P•Q 
 
     *** #3    (P + Q) • (P•Q)  =  (P•Q) • (P + Q)  =  (P•Q)•P + (P•Q)•Q  =  P•P•Q  +  P•Q•Q  =  0•Q + P•Q  =  0 + P•Q  =  P•Q 
 
     *** From Boolean Algebra Properties:   A(B + C)  =  AB + AC 
 
 A(B + C)  =  AB + AC    where  A = P•Q      B = P      C = Q 
 (P•Q) • (P + Q)  =  (P•Q)•P + (P•Q)•Q  =  P•P•Q  +  P•Q•Q  =  0•Q + P•Q  =  0 + P•Q  =  P•Q Answer:  P•Q 
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